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Hemchandracharya North Gujarat University PHD Exam

Exam Name : HNGU_PHD_LAW_31.01.2024_09.30 AM TO 11:30 AM
Exam Date : 2024-01-31

Exam Time : 09:30:00 AM To 11:30:00 AM

Total Marks : 100

Note : The correct answer is indicated by the green color. AL
¥cllol Gl 31 GlRL Ui ¥1d 8.

Question List:
Section: Section-A

State the types of evolutionary research -4 &lisel A 21ltelall USIR FQLLcl
(1) Contemporary evaluation - (1) ¥M 516l YR iSol

(2) Periodic evaluation --- () AMLs 3-L¢'ﬂi8°‘l

(3) Final evaluation --- (3) vifdu 3-[5'*-[1801

(4) Political evaluation---(%) A%A[ds J-LC'QliSd

[ 1 Mark |

1 and 2-1 A R

1,2,and 3-9,3, Wal 3
1,2,3,and 41,3, 3, M ¥
2and 3 -2 W 3

Cricket run data is related to which kind of scale? - (321l ¢l ) s Usl2e{l HL[Ed] £21id &2 [1
Mark |

Nominal scale o117 €12
Ordinal scale-$Hd IS 12
Interval scale-¥id2Ld ©1SL
Ratio scale-2|Qllti2 €111

Which of the following intermediate criteria is used to calculate the nominal scale? - ellHULA
t)R1ef] AU HIR Heraddleil sUL HIUESel GUALdL LY B. [ 1 Mark |

= Mean -H&$S

» Median-Ht¥|

= Mode-{gGS

= None of the above. - GURSdAH el A5 UL «i[&.

The annual income of the family; this data is related with which kind of scale? - §§‘4°‘n CTICERNCE
V| HLlEd] Bal usieil 82 [ 1 Mark |

» Nominal scale - ellHU[A tni’.'%l
= Ordinal scale-$HcllUS H)0Q
= Interval scale-¥id21d Q]



= Ratio scale-2[3lldR €121

« What kind of data is collected through the questionnaire? -USilddl gI21 Ws[3Ad saAlMi w1d46]
Hiledl ¥t usiedl 82 [1 Mark |

» Time series data-4IHLRLS 2]

= Cross-sectional data-$1 [de11{ld HLl&d]
» Panel data-Ue1d Hl(&c

= All of the these-GURLSd dHIH

¢ What kind of source is a book written by an expert called 'Review of Gandhiji's Autobiography' to
examine the values described in Gandhiji's autobiography? -Dlihl'l‘@)"ﬂ TELITRITH QQl{a.C'll‘-LC'mdﬂl
AUl $CAL UL2 518 dwStet Olitleil viiaisellsil UM olite] qulg Yreds sUL USIRe] Bld
IILLIY? [ 1 Mark |

= Primary reference-Wlel (1S yeHBld

= Early reference-WI2 (M5 eHH\d

= Supplementary References-Y5 deolald
= Secondary reference-i’n'%l AeelAld

« What is a pilot study? -MIAL 1S WeAL1A 2| B? [ 1 Mark |

» An experimental study MIRALOLS €16 5cll W5 AU,

= A study to test the tool of data collection. -HL(&dl AASell Altelal USIAAL HISell
B EYLA.

= A small scale study. -eileil U $dH] 1 1ddl 15 WAL,

= A study that is conducted first time. -W&H Al $ALM] Aol A5 HRULY

e In which research method is it necessary to check the effect of grooming on the sample characters?

—olYeiloil Ul UR HId%d @21LSlal deil AR duldie] s 56 A2Auel Ueg(dHi %I 82 [1
Mark |

= Experimental method RTEN[EE 1-[&;(5[

» Cause-comparative method -518l-ddellcHS uagEt
Developmental method- GERIKE U.iC_,[(:l

= Historical method-3(d&L(US U.i(_,fa

e The problem solver and the researcher are the same-3H¥Il ¥ sl Val lus vid s ¥ Sly
8- [ 1 Mark |

= In Action research -($ULcHS A2 UsAMi
In practical research-cAd&LRS ALY
In basic research-HO1 ¢l UA\AU]

= In basic research-Hd&lll 20 tlsl

¢ The eating habits of people in urban areas are different from those in rural areas' - which research
method could have been used to achieve this result? -1 5l 21&3] [dc2¢11 GlSleil vilLs 24l
el 8- 58 Al Uegldetl Guulotell w1 uREUH HWR] &2 [ 1 Mark |

= Content analysis method-[AN4dq (AR Usg[d
= Developmental method -[A 51415 U (d

= Historical method-¥l[d&l(s uagf&

= Survey method-Ha&lQl 1-[&;’,((:[

e What is the type of information that classified below? Classified information: (1) Pass (2) Fail
adilsd scMi 1] HIlEd] Jal UsiRell B2 ad{lsd HIlEd]: (@) LI () sLIULA [ 1 Mark |

. Binary-nominal-ﬂlﬁdﬂ-"ﬂrildc‘l
= Binary-ordinal -6185e13]-21\S[eldl
= Ratio measurement -2|Qlt2 HlUdt
= Interval measurement-¥d 1€ H[Yai



The data collected from published reports is known as: ustld v&aidluiell As[Ed 236 Uilsdl
_ dAZ WA B: [ 1 Mark |

Organized data 2lledd Hifsdl
Independent information-¥clci= Ul [&dl
Secondary data—i’ﬁ'QI Uiledl
Primary data-Wl&l (s Hiledl

If the Critical region is evenly distributed then the test is referred as?-%\ m%q'l{;f& '&l%?l"j, AHleleY
[ad1 add eld dl, ul&l_ dd 20auid 8. [ 1 Mark |

2- tailed
1- tailed
3- tailed
0- tailed

Alternative Hypothesis is also called as? dsleus uRseyeila a3 uel lnwiy 8. [ 1 Mark ]

Composite hypothesis—%iﬂ&d URseyoll
Research Hypothesis-%.lQnthl uRseysil
Simple Hypothesis-4201 U[R s

Null Hypothesis-[=121512{14 U[Rs&Usi1

The purpose of hypothesis testing is to: URseusil uletsiel é(j_, v B: [ 1 Mark |

= Test how far the mean of a sample is from zero (g9l ol Heus ngilen Sed) & 8 d Yslydl
HL2

= Determine whether a statistical result is signiﬁcant-NiSSlﬂ?—l uRelM «llyyuls 8 3 «isl
A uiRd 528

s Determine the appropriate value of the significance level ~Alelsdlsfl 58le] 412y HR o155l
SALHIR

= Derive the standard error of the data -HL[&cl={l UH1QI¢{d 42l dIRddl Ul

The difference between a statistic and the parameter is called: WSS ¥l WINE qReil d{leJ.da
s&AIHi 21d B: [ 1 Mark |

Non-random -HYELI
Sampling error [sie.2lel od
Probability -¥{@lldeil

Random -4 &¢I

Which of the following is not a probability sampling? oilAsiniefl S?j., Aetldell 21ULRd [lele
olefl? [ 1 Mark |

= Simple random sampling-4Ul Y9 [ce.2lel

= Stratified sampling—%dﬂd [ce.9lel

= Quota sampling-[;ﬂld (sl (5q1al) (eie2lel
= Cluster sampling—ajzl-lbii (cluster) [c1e.2let

Stratified sample is used when the population is: -¥d2ld [si£.2lel Ueg[doll GUULL QLI scAIMI ¥11Q
8 sy qule SlU 8. [ 1 Mark |

Homogeneous -Hlel
Heterogeneous-H 21
Too small - silsfl
Very large-WW 412l

The sample section in the research proposal needs to provide information about
Al eullxdUi [slelet [detini (a2l Hil&dl uelol saAMI A1 B. [ 1 Mark ]

= The software used -% ¥152d2 dURIY &
= The names of participants - aé@ugﬂbn a4
s The sampling population - [e1e.2101



= The type of analysis used - [ARANBle1] USIR

e The two important components of research respon‘gibility are: silrlcerity in work and avoiding
- 2Altet ool 6l Hecdy l e sl 8: siAuUi UIHLBISdL v
o WAL, [ 1 Mark |

Plagiarism - Alleuyl?l
Confidentiality- 9 Hdl

Research techniques - ANt dseilslu)
None of these - M [H e[l W5 Ul «if&

« Abbreviation 'ibid' used for footnotes and Bibliography for - §2=112 31al &Y [AHL "ibid' «il
GuAldL Y2 sAIMi wId 8. [ 1 Mark |

= Same reference - {Hlol %{E.@'[

= Same person - HHlel < (5d
= That is

» And others - ¥e] ¥}

¢ In which sampling method H_opulation is divided into different strata and sample is taken from .
different strata ? - §8 [s1£.21o1 Ueg[dUi MR WA WAL M1 aUudIHi AId & ¥al [c1eiel
VAL WAL 2ciM el Adiui w1d B2 [ 1 Mark |

Quota sampling - salel (elgelel

Stratified sampling- did [cleled
Snowball sampling - 2116014 (&2l
=  Purposive sampling - é(:H\Q{ [cie.9lel

« Full form of MLA style: - MLA 2l€{lof Y&[ 2c12eU: [ 1 Mark |

= Modern Language Awareness
= Modern Language Academy

= Modern Language Alliance

= Modern Language Association

¢ Population value is called- HU® HRY se&ddiwd 8 [ 1 Mark |

= Statistic -Mi55151U
= Parameter-WI1AG
= Variable-U&21(2l
= Information-HL[&dl

« Why do you need to review the existing literature? - dHI12 &leloll AL[Slo{l Aleil UL HI2 scl Lol
%2 82 [ 1 Mark |

= To make sure you have a long list of references - WA Sl HIRZ 3 dHIZl WA Aeeiledl diodl
YD

= Because without it, you could never reach the required word-count-51L 5 dsll r(:-l"'ll, dd
KUY A 1AUS 2106-21dT] U USTi] 21520\ «is]

= To find out what is already known about your area of interest - cdlH 2l 2Rl a”l‘-li
uédiell 9f wueild 8 d lual ure

= To help in your general studying - dHI2L A IH 1o WYY S HeeeU Y1y 2}

o Atype I (1) error occurs when we: - U8 H UslRedl ’{I,él AR ALY D RUIR: [ 1 Mark |

Reject a false Null Hypothesis-W121 (12152814 URsUela eisRaIUi 2114 &

Reject a true Null Hypothesis - ¥13] [¢12158{14 U[Rs&Usila sis1RA 1M 441d &

= Do not reject a false Null Hypothesis - W] [¢12158{14 U[R$&Usila sis1R 1] L] =8l
= Do not reject a true Null Hypothesis-d 1] (1215014 URSUsiIA ois1Ra M 4 1dd] «12]]

e Level of significance lies between: [ 1 Mark |

s -] and+1
= Qandn



= Qand1
m -00 to +oo

Reliability and transparency are fundamental: - [Qsdusilaudl A ulRe(2ldl HUeid 8: [ 1 Mark |

= Issues in business. - dtll5]A AHRUIBHI

= Ethical principles in research. - 2N Yaiail dAlds ﬁ-lt(,ld-h-ll
= Requirements in research. - AN Ysisf] eI ALAHI.

= Methodologies in research.-421\tel s RENRATS

Good research proposals will always: - 12l d2lltel eu RN &2l E2: [ 1 Mark ]

= Focus on addressing the research objectives. - 2lluel @:(12'{-1 U u-ll"'l-.}s[;g’\d 59

» Provide respondent names and addresses. - GdR&ldlell ol 1H] ¥l ARl IH i)

= Focus on the Harvard style. - sldS Ad] U e lo gs[;Qd 5.

= Consider all possible research that had previously been done on the topic - 41 (AN U2 A21G
SAML w1AEL dHIM etlcd Aelltetal e Al

What is a sample called if it represents one or few characteristics of the population more than the

others? - %\ d 6{lon sl Ay dedle(l As vieral elS] dle(@Lsdivl 2% 5 dl d sidellal 9 5& 82
[ 1 Mark |

= Good sample -H2| elHeil

= Bad sample -WH2IH «1Hql]|

= Biased sample -U& Ul «13feil

» Ineffective sample [HABAISIRS olHeil

The principle of informed consent is:-N RIS 2‘-l°;|,1-l[?l°‘n ﬁ-li.(}id 8: [ 1 Mark ]

= Oflittle use in business research.-IdA1[AS UM &S] GUALIL.

= A key ethical concern.-AlclU aA[ds vald

= Essential to the relationship between the researcher and the research project. - UAbeASI2 ¥
AQAtel U152 el oit HI2 w1dLUs 8.

= A key data gathering method. - H&cdefl HI[Ed] A5 5d 1+l Ueg[d.

Which symbol represents the mean of population? - ¥H[®eli Hrasa sUl Rl 93 sulddimi w11d
8.1 Mark |

NFE NZ

If Mean > Median > Mode then which type of skewness is it. - Ht$5 > H[ >0{SC S SlY dl v syl
UslReil [ANUAL D). [ 1 Mark |

Positive skewness - tol [N Ml

Negative skewness - 288l (ANHdL

Zero skewness - 2[o (ANl

None of the above - GURAscAH il A5 ULl ifs

Addition, theorem states that if two events A and B are mutually exclusive, the probability of
occurrence of either A or B is given by: ARl Uiy F3Ld 3 2l ¢l 82613l A Bl B URRIR
[cld1RS Sl dl, A weldl B Weldlsfl 2ieidoil : [ 1 Mark |

= P(A)+P(B)

= P(A)x(B)

= P(A) x (B) — P(AB)

= None of these - GUL5cYS5d WS Ul «if&

if y = 0.15 x - 1000 is a linear equation. Find y when x = 1200. , - y = 0.15 x - 1000 3 3uil A58
SlY AR x = 1200 €14 dl y 204 [ 1 Mark |

= 900
= 800



= 700
= 600

What is a MATLAB script file? -12A0l R$2 §19¢ 2| 82 [ 1 Mark |

= A text file that stores MATLAB commands-252 $196 B H2Qul sHIeSY AAs 52 8

= An image file that displays plots—E)ﬂ"& 51049 % mﬂqa ¢2lld ®

= A data file that is organized in layers—gal 5169 % delssIHidNedly B

= A program file that is executed by other software-UlAIH §16E % W A1s2dR &l
YlddIHi wi1d 8

What does Microsoft Excel do? -Microsoft Excel Qj 5382 [ 1 Mark |

= Create graphics —Q{lr{;&%{ weildd]

= Store and analyze data -521 221R sl Vial [dsdnwl s2dl
= Build websites -AWA182 tatlad]

= Send emails - SHOE H15E|

Percentage (%) sign is used in an URL to represent : - 2sldiil (%) RiEetl GUYL2L URL Ui Y Sl
Hi2 eld 8: [ 1 Mark |

= Space - 45121
» Data-52l

s Time-dHY

= Person-cl (5

What is an array in MATLAB? - 12Qo{i{ 313 2124 212 [ 1 Mark |

= A series of continuous data points-¥dd 32l In‘é)f’f;%lﬂ"l il

= A collection of data arranged in a grid—DﬂS‘-l.l dedd Seleil AAs
= A data set without a structure -6{t11R8l dRe{] 321 A2

= Information stored in a text file -25% §LOGHI UAled HLlSd]

What steps should be followed for data storage and management? - S2L AAUS el cyqelIys Ui
SUL UINEL WofACAL X1SU? [ 1 Mark |

= Back up data Seldsuy QCJ,

= Keep data in its original format -5219\ dsil SlHeH| 2wl
= Document data-521 E.%dla.‘@)fsi'i!l

= All of the this-GURell &4H|

A person’s age is three times more than the age of B person. The total of their ages is 64 years. Find
the age of person A and B. - A e (sclell GUR B culsdeil GUR sdi AL AR aUR 8. WAl GURe
AALN 64 AN ALY D). cdl A ¥l B cU(Scddiloil GHR 214, [ 1 Mark |

= 48,16
x 16, 64
= 64,16
. 22,42

Q is shorter than P but taller than R. R is shorten than P but taller than A. W is shorter than A. If
they stand in ascending order of their height, the order in which they are standing would be: - Q v p
5cli oflAl UBL R 5cli QUL 8. R A P 5l «ilA) UL A $cli Q1L . W 3] A sdli «{l U] B. %)
Al Uldledl QIULEell USdi sHMI Gell 2@ dl dHoeil Getl 2&d1eil $H &2l: [ 1 Mark |

= WARPQ
= ARWQP
= WARQP
= WRQRP

In a garden, there are peacocks and four-footed animals. All these 98 feet and 35 heads. How many
peacocks are there? - 3§ GI{IAIMI 32dis HIR W IR WALl WLl 8. dudleil syl Huils 98
sl Al 35 Hlell 2ld 8. dl i 3edi HI2 212 [ 1 Mark |

= 19



= 21
= 23
= 25

e In a row of girls, Bindu is twelfth from either end of the row. How many girls are there in the row?-

91521 ulefl SANUI [Gigell oivi2 WA D3]] viRU] 211d B. dl sANU 32d] 1) 212 [ 1
Mark |

13
23
24
25

¢ From Vadodara station, if we buy two tickets to station P and three tickets to station Q, the total cost
is Rs.77, but if we buy 3 tickets to station P and 5 tickets to station Q, the total cost is Rs.124. The fare

from Vadodara to P is: - 42d 222018l 222Uet P oil & [2(52 el 222101 Q <il AW (2[52 Wiledl 54
W R0.77 AL B, U ¥ R2Aet P oil AL [2[s2 el 2t Q <il 5 [2[s2 Wleaini w1d dl 4
WY .124 ALY B, dl Ydeil 22le1 P o e11$ wBLLdl. [ 1 Mark |

= 13
= 14
= 18
= 20

e He was sent to the prison for his .[ 1 Mark |

Sin
Vice
Crime
Guilt

e The American could not decide which ring he wanted to buy. (Replace underlined verb with phrasal
verb from the bracket.) [ 1 Mark |

= Make with
= Make up
= Make out
s Make in

e She is a very regular student. She to the college every day. [ 1 Mark |

= Comes

= [s coming
= Was coming
= Coming

¢ Select the correct sentence from below: [ 1 Mark |

= [f you had worked hard, you will have succeed in life
= Ifyou work hard, you would have succeeded in life.
= [fyou had worked hard, you will succeed in life.

= If you work hard, you will succeed in life.

. it is raining, lets drop the plan of going to the picnic. [ 1 Mark |

» Therefore
= As

= So

= And

Section: Section-B

¢ Ownership is the recognition of a claim. Hilas] A elalel HloUdl 8. [
1 Mark |

= Perse-U A
= Ipso facto -l 5521
= De jure -sl R



= De facto -S| %Esa

Summa Theologica is a book authored by UL (erRilel (st A GRLAUIRAY
Yds 8 [ 1 Mark |

= Hobbes -S164

s Thomas Aquinas ey A [sceti
= Aristotle -1 R2124

= Saint Joseph Aoz XA

A fair and distribution of rights and obligations is called justice. N CER R
sdludeIvilell GRIA wa (cdRla «A1Y sl B. [ 1 Mark |
s Equal -dHlel

Equitable -8 [sa2wd
Natural -§¢3cil
Legal -51484R

According to , jurisprudence is social engineering. - H W, s 1Y LlA N
Al(2ud A [e=¥ (o151 B. [ 1 Mark |

Blackstone -6@ 52\l

Jeremy Bentham 34| Wy
Roscoe Pound 21351 UIG<S
John Stuart Mill -%&lel g2 (Ml

Who is regarded as the founder of the historical school of jurisprudence? oA 2U1Mell A [delRs
2LLLell RUUS S Slal d1La L 241d 82 [ 1 Mark |

Savigny Aldadl
Maine -

Kant -$led

Hegel &g



e image [ 1 Mark |

given below:

Match List-I with List-II and give the correct answer by using the code

List—1I List—II
1. Grotius- I. Lawis a product of the general consciousness of the
SIER people and a manifestation of their spirit- EUARR
A clsleil A1 Adellef Gellest 8 via dusil
ldeile] vi(eiculsd 8
2. Kohler - | II. Law is the result of constant struggle or conflict
sledR with a view to attain peace and order-s14¢&] 2lild

el el UIH $dl M2 Add qay veq]
wYSIHRL uRRUM 8

3. Thering- | IIL
SEIEN

A system of Natural law may be derived from the
social nature of man - §&dl sldele{l wwlcl
HIRIMeAL AHL[ws wetianiel]l Aadl asiy 8

4. Savigny | IV.

AfaAl

The standard of conduct which in consequence of
the inner impulse that urges man towards a
reasonable form of life, emanated from the whole,

and 1s forced upon the individual-hlllll%{i UTERIE]
% Wid(s v11A20etl URRIA HILIA Wdsteil
dlwoil 2eU ds WRd 53 8, uHuAHie]

Ge®d B, el cllsd U £WIRl A 11d
8

1-11, 2-1, 3-III, 4-IV

-1 2-1%. 3-11, 4-1N

1-IV, 2-III, 3-I, 4-II

o0 m >

1-1M, 2-1V, 3-10, 4-1

S Qwy

e Which of the following is not

a case law directly related to Article 21 of the Indian Constitution? -

oilAoiiHiel s FU S1AE] CLIRALY vitRQ1e{] saH 21 118 Al Avildd «1eil? [ 1 Mark |

= Maneka Gandhi v.

Union of India - Hei$1 it (d. Y(edel 2415 S5 1

= A K. Gopalan v. State of Madras A% duldd (g, Held 2%
= Kesavananda Bharati v. State of Kerala - 32lclloit, ®l1cl (. 30 A2
= Vishaka v. State of Rajasthan -[AQLL51 (d. 2A%2Ulst AR

e Which amendment to the Constitution added the words "Socialist'" and ""Secular" to the Preamble?

(Y 1RQIe1L SUL YUIRAB BIHW Ui "HHI%AIEL" Bal "ASYER" 20€) GAAUL B? [ 1 Mark |

52nd Amendment

e Which Directive Principle of State Policy under Indian Constitution emphasizes the State's duty to

42nd Amendment -4241 21*-[[?1
44th Amendment -
46th Amendment -46H) Y1)
5241 YRl

444 {121

secure opportunities for healthy development and a just and humane conditions of work?

MIRCAlY oiH 181 @601 %R ofl el sU) [(iLls Riegid 2clel (A1 via s1efl 1] via

Uletdly URRetldu] Hidell ds) yr(&1d scledl A=l $2% U IR Y35 82 [ 1 Mark |




Article 39(c) Me28¢ 39 (c)
Article 42 - o8¢ 42
Article 44 -¥{s28¢, 44
Article 40 - ¥s28¢ 40

¢ Which of the following statements regarding the suspension of Article 32 during a state of emergency
is correct? - 52152leil RallAMi WV 3201 AR oS sl B oilActiniell s (Arilet AR B2 1

Mark |

Article 32 is suspended, and no writs can be issued during an emergency. - N{R@& 32 4Wes
5] u1d] B, uel 521521 eHUle 516 R2 3] 53] 251l «1el.
Article 32 is never suspended, regardless of a state of emergency. - 521521l Reulda e letni

qlel (dsil, Wef28¢ 32 SUIRY UWS $AH| Aldd] «1efl.
The power to issue writs under Article 32 is curtailed, but the Supreme Court can still

entertain petitions. -¥1oj28¢ 32 €601 [R2 3| sclleil UdlIMi e21S] s il B,
Ud YUlH 518 &% UL 212)¥i U wlel 21Ul 203 B.

The President has the exclusive authority to issue writs during an emergency. —?.l!j}ll[;'l uld
52152] e [MYlel Re 13l salell [f2r (dsIR 8.

e When can the President proclaim emergency? -ugu[?t SUR FURARA] &R 53 A¥? [ 1 Mark ]

It must be declared only after the actual occurrence of war, external aggression, or armed
rebellion. -d Ysgg, (1L WISHQL MU 4A3 ¢\l diRd(ds elstl Uedl o & adl
RN

It can be made before the actual occurrence of war, external aggression, or armed
rebellion if there is imminent danger. -2\ [els2ddl ¢1 S1A dl A Ygg, GiLEL AUISHL
Bl HAX wundleil diRdlds eeetl uddl s3] 2Asly B.

It can only be made after approval by both Houses of Parliament. -¥{¥&sll el 31é1°ﬂ 1-l°§?.’1
ugsl % dal vdetldl 21slel.

The timing is left to the discretion of the President. - AHd UBU (dsfl ﬁdsoi[&_, U 9151
CAlHL Al B.

e Which provision of the Indian Constitution empowers the Parliament to regulate tl‘1.e jurisdiction and
powers of the Supreme Court? -MRdAY 6{y1RQ1ed] 55 HS1LALES AAuEA Q;I}n‘-l sleoil viasRax
Ve Ao (UMl sc1oil Uil I B? [ 1 Mark |

Article 124 -s28¢ 124
Article 132 -4s28¢ 132
Article 136 -¥s28¢ 136
Article 138 -¥{o]28¢ 138

e When a Bill, other than a Money Bill is presented to the President for assent, and the President has
concerns about it, what action can the President take? -21I2 Heil (Wid E{Ql?-l{l, (ce ztgu[& HHE
AuUld UI2 % sALU 3119 v AR U[AA defl Ridl Sl, dl gAuld ) udidi 48 2A¥? [ 1 Mark |

The President must give automatic assent without any discretion. -2 L¥Y (AN 519Ul (ads
AA21R ALY AH [ 24 ud] s,
The President can withhold assent without providing any reasons. -ugufa 516URL 5128

BL [qetl AH[A AS] A3 B,
The President may return the Bill to the Houses, requesting reconsideration and

suggesting amendments. -21RU[d [646la JpsHi Ud 53] 23 B, Yei(dU 1R+l [deid] 53]
3 & ol YUl Ut 53 23 .

The President can directly amend the Bill and then provide assent. -?.l?;l‘«l((:l (4eu 1)
YURL 53] A3 O 3 Ul A{uld w1l 25 8.

believes that the basis of International Law is the consent of the States. - l-lla

8 % WidRAYIY s1aslell AR ARINeAL 2U[d 8. [ 1 Mark |

Grotius -A1(24¥

Vattel -cllod
Bynkershoek -[vis21ls
Bentham -We®/H



e Which case exemplifies the principle of ""non-self-executing' treaties, requiring implementing
legislation to give effect to international obligations within municipal law? -S4l 3™ "°'n°‘l-ac'\‘s-
W [515y 21" A[duiletl Riegide] Gele AU 8, 1y (el [Riud stueiMi AHidRAYIY
oS LOLE L1 AR SAL HIR SlALLell MUE S Loil B B2 [ 1 Mark |

Lotus Case-Gll2¥ 33

Pinochet Case -[Us{lA2 $Y

Trail Smelter Arbitration -28@ W23 W1(G{221
Nicaragua v. United States -[s$I1R 1241 (dl. Yell&)2S 22U

¢ In the context of the Estr‘_ada Doctrine, what is the significance of the term '"pragmatic recognition"?
R21Sl Riegidetl Aeeii, "cudsLRs HlsUdLl" Avea] Q] Hecd 82 [ 1 Mark |

= Recognition based on moral considerations-al(cls (AR U A 1ELRd Hioddl

= Recognition based on practical and factual considerations UIRILOLS v eslsdqeil
[AuRELUBI YR A1HLRA HisYdl

» Recognition based on ideological alignment QULRS WL UR LR HisUdL

= Recognition based on humanitarian concerns Hlsddlalel Ridl)l U A1bLRd Hixldl

e Who can appoint the third party for dispute settlement in case of mediation and good offices?
“Heefl vial AR sANietl (sAUI [dateedl ALl Ui Al ueisiRedl [[AugLs sivl s3] 203
82 [ 1 Mark |

General Assembly -%i€ ARVPIALCY]

Security Council-asﬂﬂa 51G[cuq

International Court of Justice -&e229121e1d 512 21§ % [R2
None of the above -Gl-l?;i,’fsdl-l'lglﬁ[ 516 sifs

o Which Article of the United Nations Charter establishes the International Court of Justice as the
principal judicial organ of the United Nations?

Yol l82S ol2Uo UL2R0(] 58 5AH Bo2ra2leld S1E vils % [ReU AYSd ARell Yy L[S i1
a3 @UUd 52 82 [ 1 Mark |

Article 92 -¥{s28¢ 92
Article 93 -¥{s28¢ 93
Article 94 —21{212‘38 94
Article 95 -¥{s28¢ 95



e image [ 1 Mark |

Match List-I with List-II and give the correct answer by using the code given

below: [A22-1 o [d22-11 12 Y 52 244 (| 24106l $1S<1l Gualal
sl AR @Al 24

List—1I List —II
1. Article 9- I.  Composition of Security Cmmcil-aﬁﬂﬂél
v ¢ 9 51614l 221l
2. Article23- | II. Composition of General Assembly - %14
URBE ARITAL B RRIE]
23
3. Article67- | III. Voting Procedure of Economic & Social
3289, Council - O8Il [Hs oS AL 516 (441l
67 Hdel- UlsAl
4. Article90- | IV. Voting Procedure in Trusteeship Council -
¥ 289¢, 222 121lu s1G [1au Hdeled sl
90
A | 1-II, 2-1I, 3-IV, 4-1
B | 1-II, 2-L 3-III, 4-IV
c | 1-IV, 2-III, 3-1, 4-II
D | 1-L 2-IV, 3-II, 4-IIT
= A
= B
s C
= D

e Which of the following is not considered as a public servant under Indian Penal Code as held in case
of State of Tamil Nadu v. T. Thulasingam? -d [(Hélell$ A% [d. 2l. gaiRiauedl 3uui «{1A
wGIH ] Sla eLRdld £ [Ecdl @60 &R Ads d d1 LIt Alddl «1el? [ 1 Mark |

= Railway Servants Red o152

s Drug Inspector -39L g 52

= Employee of a Nationalized Bank -2(¥1d5d GIsell sHUIR)
= Municipal Councillor -Lg(&ﬁmq $1G[R1dR

¢ Which of the following is not correct regarding mens rea? oy L ¥l olAeqinieil S{-i, %ll{-i, ofefl?
[ 1 Mark ]

= [t refers to mental element necessary for the particular crime A Ylssy Ileil H[2 %3]
Hlol[US dedofl Gedul 52 8
= The mental element may be either intention to do the immediate act or bring about the

consequences-Hlel [R5 ded 51 dl dicsL@s 1A scleil wedl URRIM dlddlsll §21el €18
A5 B

= Intention or recklessness as to the elements constituting the mens rea-Hodl I lef] UsAL Sl
cedll v3lel] §2UE] wdl AersIR)

. lntenti&n can always be satisfactorily deﬁned-é(j, SN2l Adlusis Ad calvAllid s
ASIY

¢ In cases of necessity, the act must be committed to avoid a greater evil, and the harm caused should be
-1 U Sl [52A1MI, s U2 wleiea 2lnal Ui Uldoeieg Sld F1Su, via B
asAlel AL & d &lg F1S¥. [ 1 Mark |

= Intentional —Sil&lq\dpfs
= Unavoidable - (s1d 1]
= Proportional -UHISl{2
= Random -3vSH



¢ Identify the incorrect statement from the following. o{lAst1Hie{l wWlel [duleial Blnwl. [ 1 Mark |

Motive is a reason or a ground of an action, whereas intention is the volition or active desire to
do an act. -&q A ($Y o] 51281 WAL WIHIR B, 2R 82Ul A S 5 Io{] ©91 M d]
UlsU 0091 B,

Motive is a basis for criminal liability. -&d, S1%&13] AW eI Hi2ell AR 8.

A good motive will not render lawful what is in fact a crime. EAERR é(i dlddu| % 3\L°'n 8
del SIAEUR WeildQ) el

A bad motive will not make unlawful that which is lawful. W21l &d % S11EAR B dal

AR lefeil oiet1dl el

¢ Identify the incorrect statement about abetment. -G23:il (2 w.'lg EEEEN IS [ 1 Mark |

Abetment by instigation may also take place by wilful representation and wilful concealment of
a material fact which one is bound to disclose. -8 (223121l &Rl G500 Bili.lli\d—&ﬂ
gl G UL AL A3 B WA 516 el[ds deda enelllga guldla gl 4e 2% 8 %
<[5l o1& Sl HI itldd 8.

Mere acquiescence may amount to abetment by instigation. -H13 %cﬂ{;(& A Gedrelil
GIR1 G230 AUl &l 2AS 8.

Intention to abet by conspiracy is not a crime. -¥SU G2l G25dlsil ©R1el el el

Aid may be by an act of commission as well as omission. -4&1d S A1 WlLeH1S] IR ELE
A B.

e According to , “Crime is an act forbidden by law and which is at the same time revolting
to the moral sentiments of the society.” - Yool "IYell A s1uel gl Uldoiltdd &1 8
ol B d % HHA AU I%oil aAlds ARl AN vind) 52 8." [ 1 Mark |

Stephen -2-8‘1301
Blackstone -¢-A 52)el
Kenny 5e{]

Paton -U2si

e In the case of Hughes v. Lord Advocate, the court considered the foreseeability of a child getting
injured by a manhole left open. What principle did the court apply in determining the foreseeability

of the harm? -8l (. 1S AsdlFeel 3uUi, vieldd Nelsld vieq & (el Wins 1Ud eldls{]
Aelldela elleiMi dlt. oistletofl BI1UAL 1551 Sl HI2 512 UL Riegid d1o] sl [ 1 Mark |

The "but for" test -"Uq Hl" U8l

The "reasonable person" test - 1e0{l ey (s IR'I&IQI
The "direct consequence” test —"%ﬂ{j, uRulH" 11?]8‘[%’[

The "eggshell skull" rule -"¥212\d 256 " o] (1N

o Identify the incorrect statement regarding Negligence under tort law: 218 sluel @60 lersila
adldl vilel [idesia 21W: [ 1 Mark |

Negligence requires the existence of a duty of care owed by the defendant to the plaintiff.
AeRs1Rl UL ulddlel gL dlela Miud i H1dd] AMLnsd] 539011 M R cdef] 62 8.

The standard of care in a negligence case is always subjective and varies based on the
defendant's personal characteristics. RATEETRA LTI 8[“1‘{6)01 UNEIERERETN

c(sdcell el 8 vial ulddieledl culsdold clgifBLsdivilell w1uIR wedld 8.
Causation is a crucial element in establishing negligence, requiring a direct link between the

defendant's breach of duty and the plaintiff's harm. -WU(ddl€le{l §98e1l @idl A ql€lefl it

a2 el sSlefl wlaeUsAl Aes13] W@ILMd SAMI 5122104d NS RIS ded B.
Contributory negligence is a defense that completely absolves the defendant of liability in

negligence cases. -31@ WIUAR AesI3] A et B % AeslRledl 3uui ulddiela
dloe Mgl AYRIuLl Ysd 52 8.

e Which of the following statements best describes the concept of strict liability in tort law?
fldsiiHiel 53y (Qulel 212 sIAEIHi 555 Bl valda AV Id did 82 [ 1 Mark |

Liability is imposed regardless of the defendant's fault or negligence. Uldalelsil od
ueldl oleRs1e raletni elul [deil waleel?l diedini x4 8.



Liability is contingent upon the defendant's failure to exercise reasonable care.-Y [dalelsl
qlogof] AL AWM [Ads0dl UR FdlHelR] 115RuSs B.

Liability is limited to intentional acts causing harm. -¥dlW&l3] ©UelYdsetl SRIL Yl
HU[(Ed B 2B o sulst USIULS B.

Liability is based on the defendant's malicious intent. -¥clll&l3] WlddlElell &[Nd BUel UR
AULLLRA B.

e Under traditional contributory negligence rules, if the plaintiff was found even minimally negligent,
what was the consequence regarding the plaintiff's ability to recover damages? -{sluﬂ V{|YellR
g1l UL (1AM @601, % dlE] vile9ini 2018l Qlers1] ULl H1ddl L), dl
dlelefl oislefl ayadieil eudia dddl URBLM 2 &dl? [ 1 Mark |

The plaintiff could recover full damages. -cl€l HH\Q{ 015%“0'[”[ dyd s A% .

The plaintiff could recover partial damages. dlel wil2us 015%[[°ﬂ dayd 53l Usel.

The plaintiff was entirely barred from recovering any damages. -cllElal S16USL °j,.‘s%ll°‘n
ayddl Hi2 Ay uldvildd saiui uied) edl.

The plaintiff's negligence had no impact on the damages awarded. dlele]l Aers1R)edl

a5 Lefl U 516 AR AL «1ef].

¢ In relation to the aims of tort law, which one of the following statements is incorrect? 212 slus el
G Ruloll 2oitni, «{lAstiniell sy [Atilel Vil 82 [ 1 Mark |

The law of torts aims to protect only those who have suffered loss. -21@2{01-1 SIAEL HLA
| Elslal % &L A IUdleil & BUAA oisAlel &Y &,

The law of torts aims to shift the loss from those who suffer it to those who cause it. -21&sil
s1ULloll G2RAU aiSlel UEsl St UIAL] ofsUlolal 512Q1¢4d d1S] ds WAS el B.
Unlike contract law, the law of torts is also concerned with deterrence. -551012,[880'[[ siuell
[Auzld, 212 =l s1UAE) Ul 1dR1Y 18 Aciftd B,

The law of torts does not protect all interests equally. -8-12\,%[011 S1Uel dHIH E%Cn‘j U Lel Tld
&G 5 wtell.

e image [ 1 Mark |

Match List-I with List-II and give the correct answer by using the code given

below: [22-1 < [d22-1T A1 AY 52| 4 «{1A 24104l s1S<1l Gulal s3]

AR ¥died 21Ul
List — I List — 11
1. Necessity Defense- L. Nichols v. Marsland-[:‘[.%w.c‘%l [El Hl%[@l‘TS

14U s | 8L

-2

Act of God Defense- | IL  Bird v. Holbrook - 645 [d. €1A0ys
Haq |- Heglkl
oA C{ERI]

Inevitable Accident- | III.  Vincent v. Lake Erie Transportation Co-
w41 35 Id (A2 [d. 45 217] 2l={Uleeld S)..

Statutory Authority- | TV.  Ellis v. Home Office-21[dl [d. &M
AY1[5 Al 21 (5

1-III, 2-IV, 3-1, 4-1I

1-101, 2-1, 3-III, 4-IV

IV 2-T, 3-1 4-1

Ol @

1-1, 2-I0I, 3-IV, 4-III

wR@N--Ns

e What principle, established in the case of Hamer v. Sidway, relates to the element of consideration in
a contract? -&HR [d. RisAsil [sA1Mi @uL[Ud sU] Rigid, sA/M [AUIRSLIEL ded A1 vildd



82 [ 1 Mark |

Doctrine of Frustration -&c2Lle1] ﬁ{i(,ld

Doctrine of Privity -2llUs{ld o1l (egid

Doctrine of Consideration -HIG &6 il ﬁ-lt{,ld
Doctrine of Anticipatory Breach AR eidlef) ﬁ-{igld

e What are the requirements for a valid and binding contract? -Hls¥Y Wl itoisdl $AR HIRel
VLU SAIL 2] B2 [ 1 Mark |

Offer, acceptance, uniformity, consideration, and intention to create legal relations. —2*{\[8?.,
dls(d, U s:eUdl, HlKed 1a Slojeil Aoit] Weilddiel] Sl

Offer, acceptance, certainty, practicality, and intention to create legal relations. TSR, %cﬂ{; [&,
[c1(2dcldll, cudLREdL Wal Slojeil Aoid] oietldd el SLel.

Offer, acceptance, certainty, consideration, and reasonableness. —?hnis?_, z-cﬂg; [a, [gifgdddl,
Hloded el 1% 0ldl.

Offer, acceptance, certainty, consideration, and intention to create legal relations. —U{\[{R,
2dls(d, [ei(Bdddl, Hlned val slofeil 2i0it) weilddieil Sl

¢ In the context of minors' contracts under the Indian Contract Actz_ which of the following statements
is correct? -®LIRcllA 52 Wt [AAUU S601 UARo1l U011 A iU, oilAct1Miell 53 [l 213 2

[ 1 Mark ]

Minors can enter into contracts freely without any legal restrictions. AR s18uRl 3[013'[’1
Uldoid (dell Ysdusl sMiudel 530 23 8.

Contracts with minors are void ab initio. -22{12] A12leil 52121 UIReHe]l 2e611dd 8.
Contracts with minors are voidable at the option of the minor. {121 A1stl 52U U{RsL
[Asey U 2e0ildd 8.

Minoars arg bound by all contracts they enter into. A1 Al elwd 5391 dHIM sARNL]
WY4L 8.

e What is the effect of a counter-offer on the original offer in the formation of a contract? -52eil
YL IHL Y01 152 UR 51Ge2-u1§R01] 2] A2 &1 82 [ 1 Mark |

The counter-offer terminates the original offer, and a new offer is made. -3[@0'8?.-21{-132
Yo L5 AULH 5, ol olcf] V1§ sALM w114 B,

The counter-offer has no effect on the original offer; both offers remain valid. -5[@0‘81-2*{13141
HO 152 UR 516 AR Ad] steil; ool 2162 Hisd 282,

The counter-offer is a rejection of the original offer, but the original offer can still be accepted
afterward. -51Go22-24152 3 Y0 W50l W51 B, Ud 4ol H182 uel uwl :dls13l
ASIY B.

The counter-offer merges with the original offer, forming a single, binding agreement. -513e22-

152 Y1 2152 U1 Hos 1 B, As (Ridld, vitlelsdl 5202 Wetld B,

e Under the Indian Contract Act, which provision specifically deals with agreements opposed to public
policy? -M12clld 5212 v[d U S601, $8 X1ALE WIA 53] ANER oilldell [QAUNI 512 A18
Aoildd 82 [ 1 Mark |

Section 23 -4 23
Section 27 -5€H 27
Section 28 -5€H 28
Section 30-5€H 30

e Under which section of the Indian Contract Act does the term ""Coercion" find legal recognition?
MRdAlY AR Al lAunsil 58 s6U S0 "WNSWR" 21084 Slofeil HioUAL HA 2 [ 1 Mark |

Section 14-5€H 14
Section 15-5€H 15
Section 16-5GH 16
Section 19-54H 19



¢ In the case of Hadley v. Baxendale, the court established the principle of: 854 [d. A sAe3dail
JAuui 512 oll Riegidefl 2e11uetl 820, [ 1 Mark |

Quantum Meruit-5dle2H HaEe

Liquidated Damages- [@(sades S0

Mitigation of Damages-o$ L] 21Hel
Foreseeability of Damages-{l,&%lldoﬂ VIR cll

. consists of one single pronouncement of talaq by the husband or his agent. -
uld vedl deil WgeR GIRI ddisel 215 % GRARRIAl 4HI1d2A &Y &, [ 1 Mark |

Talaq —e- Ahsan -clGlLS 2 veAled
Talaq —e Talaq-cddlS A ddls

Talag-e- Hasan ~de15-2)-&¥s

None of the This -GURLsciHiefl 51€ <1l

e Which of the following is a subsidiary source of Muslim law, providing guidance when primary
sources are silent? oilAeimiell sUL YRAU siaslell UalsUeil Hld 8, IR uielfis Aldl 2id
SlU IR Uil Y ULS 82 [ 1 Mark |

= Custom-3=[&

= Quran-§lei

= Sunnah -Y&ll&
= Qiyas (su1

e Under the Christian Marriage Act, 1872, who is not authorized to solemnize a marriage? (s(3dust
Ny W82, 1872 €601, AU UUIRLE U2 5181 v [t§d oteil? [ 1 Mark |

» A Christian clergyman A5 (Wdl ulell
= A Marriage Registrar—a.-?\.%’ Y2 IR

= A District Magistrate [l ﬂfao'a%,a

= A Notary Public -o{123] u(ocis

e According to the Special Marriage Act, what is the notice period required for giving notice of
intended marriage? -0 (U6 Nos V52 Ywol, B[R defl ol WUl UI2 «il[24 RUS
J2d] e 82 [ 1 Mark |

15 days -15 (ed
30 days -30 [edd
60 days -60 (ed
90 days -90 (ed¥

e If a marriage is contracted between individuals within the prohibited degrees of sapinda relationship,
the legal consequence is: -%¥1 A [UsL vitiefl Uldouiltd [Salefl vieR culsduil A2 d@ysil sAR
s w19, dl slegeil URRLM 8: [ 1 Mark |

= The marriage is voidable. -4 2£6ldd 8.

» The marriage is valid, but subject to penalties. -4y HIY 8, ud £S5 Ulat 8.

= The marriage is void ab initio. -6l U6 18]l 2e641dd 8.

» The marriage is valid with the permission of the court. -512+fl urdletolefl @A Hil B,

e According to the Hindu Marriage Act, what is the condition for obtaining a decree of divorce on the
ground of cruelty? -[&g 1o V52 Y0, Sclloll WIUIR 89218Slo] &sHe11Y Anddl HI2 Q A
82 [ 1 Mark |

= Cruelty must be physical only. -§2dl H17 2UZIRS eld] %165,

s Cruelty must be mental or physical.-§cll UleARLs 3 ARIRS Sldl %15,

= Cruelty must result in bodily harm.-§dl LIRS aisAleiti URREH] 2 a1,

. Cﬂueigl must be proven beyond a reasonable doubt -§cl dll%6{] 2sle{l IR UL(o4d ad]
&459)

o State the ratio of judgment laid down by the Supreme Court in case of Mrs. S. Sundarmal v. St.
Fransico College? -SilHdl 0. e2Hd [d. Ao sl SlA%ell 3uHI udlR vielad 241061



Ysleleil AUl FQULCL? [ 1 Mark |

All persons are workmen irrespective of the status. -&2% o e leH Gletl 212 dHIH
Sl SIHER B,

Education institute is not an industry.—@l&l'%l el A G 18]l

Teacher is also a workmen.—ﬁ’.l&l& Uil sIHeR 8.

Education institute is an industry but teachers are not a workmen.-[21&131 el A s
G121 B uwL (&8l 5121212 <18l

e Which out of the following prohibits an employer to make a representatioP through the legal
practitioner before the Labour Court? DRI .‘s{-i, Ulldsa QiR sle uuel 8[0131'1 A1l
GIRL YV scl U2 Uldviltd 52 82 [ 1 Mark |

Industrial Dispute Act.-»1l8l0OLs [ddle v4(e iU
Employees Provident Fund Act. R RCICISRCT R CIEER
Employees Compensation Act.-5HUIZ] dndR w (e,
Payment of Wages Act. -Actelof] YRl 34 [t [«1un

e Which of the following amounts to strike under section 2(q) of the Industrial Dispute Act, 1947?
ENGLS [Aale wa (UM, 1947 ofl 56H 2(q) @60 lActiMiel]l 58 6 &Sdid 53 2> B2 [1

Mark |

When all person stop the work under common understanding voluntarily. 2RUIR dHIM
Y [Sel ALH LA HUY E601 AU S1H 0it 53 D,

When all of a sudden all employees stop the work.- 213 A Lets dHIH SHULZI) S1H oiy
sie 8.

When an employee of a department store protesting against the unhygienic condition, stop the
work. 2R [SUléN=2e RRell sHUR] 2469 Rel(dell (AR1el 52 B, AR 51 viel 52,
All employees offer taking the permission of the employer stop the work. -G4¥| sHY 1A
ARl Urdll1d]] d8a S1H 0itl s2allef] w1182 52 D.

e Under which of the following cases the registration by Trade Union can be cancelled by the registrar?
-ollAatiniell suLZU Eo0 2S Y[eiUal GIR1 AluBIl 22212 G2 26 53] 2ASI1A B2 [ 1 Mark |

When no return as prescribed file by Union.-2413 ?J,[;RM Glel [4lRd $1OE ¥ W e
o4&l

For violation of rules and regulation by Union. -?;I,[:ﬂM Glkl [AuM] Wal (UM ststl Gedelst
L.

When it is proved that registration was obtained under fraud.2RUR d AllUd AL B
BdAUS] &on «iluil Anddiui 214l dl

When employer suggest it.-%d 1R uLfas da %Bla. 2}

¢ What is minimum requirement for the registration of a trade union? -25 El,[:‘lllcid'l ECTENRITES
gy SeRULd 2) 8?2 [ 1 Mark |

Five percent of engaged workman by establishment. -2¥[Uell G121 ASIAEL SIHEIRAL U
esl.

Ten percent or one hundred workman whichever is less.-& 251 3{¥dl Al SIHER
olyjefl B 1§ slu.

200 workman.-200 $IHEI1R.

400 workman. - 400 5lHE(R.

¢ When will the action not fall under S. 2 (OO) und‘_er the Industrial Dispute Act, 1947? ENENEE
(cale v[El1uH, 1947 @60 S. 2 (00) €60 sIUdLE] sULR oSl &UA? [ 1 Mark |

When services of employee is temporary in nature.-$d 13 sHUR(l Aci)l w2el1d] us [dsfl
Slu .

When workman opted for Voluntary Retirement under the scheme. 2RI 5N el A1%ell
@60 2ARYS [viqd ue 52 .

When establishment is closed. -2 HESH 0{d 8.

When service is terminated for not passing examination. 2412 Uetl Ul ol 5l wied AdL
UHIH S| 2419 B,



